
REAR SWAY BAR REINFORCEMENT BRACKETS 2020+ OUTBACK

Part # 20.OB.SWB

Brackets:
❏ 2 x ADF Brackets
❏ 2 x Large Thick Washers

Hardware:
❏ 4 x M8 x 25mm Flange Bolts
❏ 4 x M8 Flange Nuts
❏ 2 x M6 x 25mm Flange Bolt
❏ 2 x M6 Flange Nuts

1. Support the rear differential with a floor jack or jack stand.
2. Remove the large M14 bolt from the rear of the subframe. 19mm socket or 22mm

if aftermarket.



3. Remove both M8 bolts from the stock sway back bracket. 12mm End Wrench or
socket.

4. Take the large M14 bolt we removed, slide it through the large hole in the new
ADF Bracket, them slide the larger thick washer on that. The large washer will fill
the gap from the ADF and the body on the car. Get this bolt finger tight in place
with a little play.

5. Install both M8 provided bolt in place of the factory M8 bolts we removed earlier.
Torque to 14.5 Ft/LBS.

6. Install the M8 Flange nuts provided on the opposing side of the bolt to lock the
ADF plate into place. Torque to 14.5 Ft/Lbs

7. Install the M6 x 25mm bolt in the upper corner of the ADF bracket, install the M6
nut on the top of the ADF Bracket. Torque to 10 Ft/Lbs.

8. Final torque spec is for the M14 bolt in the subframe. 106.9 Ft/Lbs


